Universal Projector Mount Instruction Manual MV-PROJSP

NOTE: We recommend that this product is installed by the professional only. we accept no liability for damages caused
by incorrect assembly ,installation or use. If there is any doubt, please contact the specialist from the seller for help.

IMPORTANT!
* For safety reasons, the ceiling or mounting surface must be capable of supporting the combined weight of the mount and
the projector; otherwise the structure must be reinforced.
* At least two people are required for this installation. Do not attempt to install this mount alone under any circumstance.
» Make sure that no electrical cables,water pipes or gas pipes are located within the mounting surface.
Tools required for the installation:
* Phillips Head Screw Driver * 1/8” (3 mm) Drill Bit + Stud Finder ( Drywall Installation )
* Electric or Portable Drill * 5/16” (8 mm) Masonry Bit ( Concrete Installation )

Also make sure that all of the hardware has been ihcluded with your mount.You should find the following:

(A)Lag Boltx4 @memmW> (B) Concrete Anchor x 4 [C==53 (C)M5X 12 Screw x 4 (mm (D) Lag Bolt Washer x 4
(E)M4 x12 Screw x4 (mmm (F) M4 Washer x 4 (G)M5X 8 Screw x4 [mmm  (H) Allwn Wrench X1 —

(M3 x 12 Screw x4 (mum  (J) M5 Washer x 4

Installing the Projector Mount

Using screw (E) +Washer(F) or screw (I) assmeble the base claw

Prepare two main parts
I i &

If concrete ceiling,pls USE screw (A) ,Wahser(D) and anchor (C) to fix the pole to the ceiling
If wood ceiling,pls use screw (A) and washer(D) to fix the pole to the ceiling

Final Adjustment

©

USE screw (G) and washer (J) to fix the claw to the pole with allen key (H)

WARNING:Do not over loosen or tighten the Screws
The bottom can be rotated three hundred and sixty degrees.



